\Cadi\ksf04\2003\30041-HBR KAALA-PAAUILONO4—-13-04\HBR-S1001.dwg, 4/13/2004 1:16:39 PM, KSFinc.pc3, 1:1

SURVEY PLOTTED BY

DRAWN BY

& 2 2 2 2

TRACED BY
DESIGNED BY
QUANTITIES BY __-=
CHECKED BY

ORIGINAL

PLAN

NOTE BOOK

No

See

o e Il e Bl B
E ¢ Post —— @ Post —— @ Post ¢ Post HAWAII HAW. | NH—-019-2(55) | 2004 108 112
27 Varies | | |
<— (¢ Post
” 2}1
Z o ) ' ' | | Varies
1-71/2" 1-71/2" /=#5 @ 6 equal spaces, lypical 1-71/2 1=71/2 /=#5 @ b equal spaces, Lypical 1-71/2"
End post Z Typical Typical Typical Typical | | Kfnd post
—3—#4 Typ. S—#4 Typ.—\ |
/
—————— 9 ® 9 ® e e o e o] ot e e e e @)  J (] . J ] L ]
< | ] ) ) 1 l . ) ; ) i . ) i ) ) ) ) <
|
X 3 3 3 B A ke g e e ) : ) +
n TR TR TR
/ = & TR 6—#6 — TR EE LR TR Z
oy Front face TR IR EL AR IR REEEEERL IR IEEE LR Front face
iy . B B N NN R g Ea o g W ogNyg gy g g " g By gy gy .
n of rail T AR HE R of rail
H L Al EIEImIlm SRR ml Al EImImIn
| Back face, typ. | 6—#4 | Back face, typ. 3-0 Abutment —s
i f I ,
ya 11—#6 Front face, typ. 1T-#6 Front face, typ. Centerline bearing at obutmenf——7

707

Ve

/

\/<Abuz‘ment

PLAN OF OPEN CONCRETE RAIL_ON BRIDGE /A ™

Subject to approval by the
Engineer bars may be skewed

=—=FEdge of deck

/é——— Centerline bearing at abutment | = —— .
SCALE: 3/4" = 1-0 S10.1\510.1 to provide clearance from
edge of deck conflict with
~—— Ldge of deck | other reinforcing bars shall
/"3\\ be taken into account.
510.1|1510.2"
< ¢ Post = ﬁe——@ Post ~—@ Post ~—@ Post < ¢ Post
2" Vories | | | | Varies 7"
=712 7—,4/5 @ 6 equal spaces, typical 1=7 102" 1-71/2 7-#5 @ 6 equal spaces, typical 1=71/2" | |
i N » ‘ , ‘ Structural Steel Railing
1=71/2 | Dpiedl Hypigal | ypicdl | | / See Sheet 510.2 and S10.3 |
N — H
2 I ! i | |
| , , Tt
| r—— Concrete Rail | | |
[y g : 9 2 2 . 2 + 3 2 e e s n_.< &n e e g 2 L e L 29 | m
g/ Ss1011810.1”
d 5 d (d d i d d ',f_ d . d d J (T g—v d d d d d L d
3—#6 Equally spaced .
, T TE
' d 3—#4 Typ. ! 2’ Cr l——/rz termediate Structural
typical Steel Rail, typical
S—#4 Typ.
[570.2 - .
6—#4 Back Face (Typ.) - b | Back face, typ. /-6 16"
77—)#16 Front Face (Typ,) 77"‘;#[5 front face, ZL)//O‘
ELEVATION OF OPEN _CONCRETE RAIL ON BRIDGE /B ™
SCALE:  3/4" = 1=-0" S70.1(570.7
ke
Bar 1 or 2 ( ) ,
\ 2 AT AT 4}\&
€ q ' — S "~.' o : N 2
Bar 5 or 4 _\ ol d LO’IDS for Bars 1 and 5 shall be sz‘aggered. J.A 4 :L /<< g Q\ LICENSED DEPARTMENS‘;ATSFOFTFHQZWNAgPORTAT;ON
Bar 5 or 6 \/x — : 5o Laps for Bars 2 and 6 shall be staggered. o5 6'e | e N - Sf PROFESSIONAL HIGHWAYS DIVISION
a Bar 3 to be continuous through laps for Bars 1 and 5 .
e : ' < Bar 4 to be continuous through laps for Bars 2 and 6 L Dri / l 7 (0 81042 RAILING SECTIONS AND DETAILS
“a” > Zero - P
e ) o See Lap Detail THIS WORK WAS PREPARED BY HAWAN BELT ROAD RESURFACING
-0 76 ME OR UNDER MY SUPERVISION. - - -
| Last Paauilo Bridge to Kaala Bridge

LAP DETAIL /7~ 1 O\

NOT TO SCALE

S10.1

s
M

RAIL SECTION 2™  DRIP DETAIL /~ 3 ™

NOT 70 SCALE

S70.1

S

sior
™

NOT 70 SCALE

S10.7

S

sio1
e

%ﬁ / /% ‘%/fwyﬁ%—ao—m

federal Aid—Project No. NH-019-2(55)

SIGNATURE EXPIRATION DATE OF THE LICENSE

Scale: As MNoted

Date: April 2004

SHEET No. $10.1 OF 61 SHEETS

108



\Cad1\ksf04\2003\30041—HBR KAALA—PAAUILONO4—13—04\HBR-S1002.dwg, 4/13/2004 1:17:43 PM, KSFinc.pc3, 1:1

154
<
(=]

m

L I H

b
ml iy ip
8
L
S ) wPumn
mgmgan
d, 8z EH
Eggggc
ESFEsSEH
hMeBRa&O
v
9. 18
38
galB
s e
2 2

4N

J:“——’—J--,#@ EF, Cont.

=———3-# x 6-0"

added inside face
of rail

, Centerline Bearin
, T g .
Varies | 7.0 | 70
| 2" (. v ‘
End post i Structural steel railing ” ! Splice tubes, see | '
\ | 2 Cr | % 510.2]510.2
| /] r
| 2=#5 Structural steel rail : /
J ) Z //
Z 7 ! f /
| al l —|
, — | | 7
J . / ﬁl: J—#6 EF, Cont. Structural steel | . |
— ~— = rail = \ 1 1y
= l = IS \ I e
— zM AN — 5“'%6 X 6’—0” g“\__
i Added inside face Concrete deck —/ |
of rail D R
Bottom rail at ——
end post N Concrete post
For splice details and rail 3-#5 —
S AN Concrete post and rail
510.2|510.2 < Abutment
Y%

[YPICAL RAILING DETAIL AT END POST /1 ™\

TYPICAL RAILING EXPANSION JOINT /2 ™

SCALE: 1/2" = 1=0"

1S 3% 2" x 3/16” or
1S 2°x 2" x 3/16

= 1/4" dia. x1 7/8” Ig. Spring—wing toggle bolt
w/mushroom head & flat washer

510.1\510.2 SCALE:  1/2" = 1"-0"
™

S

3
W/

2 1/2°x a. tubing

——— 3/4” for Bottom
rail at end post

5102

—

<— ¢ Splice

C‘*‘" End rail

5102

e

<~—— 1/4” dia. x1 7/8" lg. Spring—wing toggle bolt
w/mushroom head & flat washer

1/2"% 1
2”
1

;(” 50/? 6" or e X/ /— ¢ Rail

X 10 ga. tubing

/
@ ROI‘/ —"""'""‘—"'—_""'__.L::::::::::::::“g_:::::::::::I:::::: ““““““ for TS J),X
\ R R T [ amn B 11/2” x 1

for 1S 2" x 2" x 3/16

5/8"x4 1/2” Slotted

hole, typical
5/87x2" slotted hole

for bottom rail at
end post

(ASTM A 512 Gr. MT 1010)

/\ wrap w/neoprene. Secure  5/87x4 1/2” Slotted /
A

neoprene to tubing with hole, typical

17 for bottom

rail at end post

2" for bottom
rail at end post

*DWG
1 =1

1/4"

at £nd Post

ELEVATION

3" for Bottom
rail at end post

' ' 10215107 adhesive 5/8”)(2” Slotted hole £ 1/2" dia. hole in sleeve
| | — ' for bottom ail at ,
¢ 12 dia. hole Ejnd p?St/ tted hol 53/ W 12" T unless noted otherwi
9" Tp. , 6" Typ ; 8" Tip n sleeve ge or siotte ole <‘ | Jp. uniess noteq otherwise
Y B / v o 1” for Bottom

S~ for bottom rail at end post % "

rail at end post o N I e \
NOJTE: 7 g

s 1p gotted role nd toggle 4 Sene Ty
6" Sleeve for Bottom Rail underside of tube. 6" Sleeve for Bottom Rai

at tnd Post

SECTION /A ™\

[YPICAL BICYCLE RAILING EXPANSION JOINT /4 ™

NOT TO SCALE 510.2|510.2

s10.2|s10.2
LS R

4-6" Bike Rail

FED. ROAD STATE FED. AID FISCAL | SHEET | TOTAL
DIST. NO. PROJ. NO. YEAR NO. | SHEETS
HAWAII HAW. NH-019-2(55) 2004 109 112

Structural steel

|\ r|I—r—#6 Railing bar

railing, see sheet S10.3
3-#6 H, EF

2" 0,
Typ.

Front face of rail

2" Clr. 0
Ty/—m—} .
#4 Railing bar - | #o Cl stirr. 2

/ 71)
Beam

7-8"

[raffic Rail

,, 2 —1-#6 Cont. ol
/ Top of concrete -
S—#4 Cl stirr. : [ slab

Opening

6—#6 (
Ligh

Existing concrete deck

14" /
#E ) @12

Cont. drip
See Standard Plan B-01

SECTION

|
' i

<——Lxisting girder

3N

SCALE: 17 =

NOJE:

1-0" S570.711570.2
e

See sheet S3.3 and sheet S8.3
for additional details.

</ LICENSED
Q/ PROFESSIONAL
ENGINEER

NO. 8104-S

THIS WORK WAS PREPARED BY
ME OR UNDER MY SUPERVISION.

Y s anie®

SIGNATURE EXPIRATION DATE OF THE LICENSE

STATE OF HAWAII
DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

RAILING DETAILS

HAWAN BELT ROAD RESURFACING
Last Paauilo Bridge to Kaala Bridge
Federal Aid—Project No. NH—-019-2(55)

Scale: As Noted Date: April 2004
SHEET No. 810.2 OF 61 SHEETS

109




FED. ROAD FED. AID FISCAL | SHEET | TOTAL

DIST. NO. | STATE | pROJ. NO. | YEAR | NO. | SHEETS
HAWAIL | HAW. | NH-019-2(55) | 2004 | 110 112
7" Ref. top of
End Post - < Pef Front end post. m
i . . ) face of rail <c ' .,
/ AR / 57 O%JQJ/QI/S” 7 <7)/P~ 9-0" oc max. post spacing
VA ‘ x ' N\ ( @ IS 2 7/2”)(2 7/2”)( 7/4” T . 5 ——Q Post and
1 1/8” Ym ) - metal post > N = - anchor PL
< e I ( ' (- i Q
- - - - ] év -O— - § T_____g,__ = = = . ‘_\ - - - - \ - K - - - _ - - - - \ - “‘ i\
| | ™ ) _ \—Q tube | | | Typ'm | -
Sz ¢ 2- 1/2” dia. A 325 / / b ] / \——~G5 R il b
Sleeve formed of~" / | anchor bolts — { tube ' Vent holes for — BEERS
1/8" PL [ i ga/van/zqz‘/gn Fae 2R N
; ‘ | l X ) ” . ! as require ——M ) ~
= Top of exist. endpost 1S 3°x2"x 3/16” tubing / : ] ? ) 7 NS
PL 3/8%6°%3 1/2" | where exists (ASTM A 500, Gr B) | [/7 /4 AN = /(D/% 32)/8 X6 "x7 R
*\ ' Demolish—=5| " 1/8" Neoprene Pad | PL 3/8x6'x3 1/2" — ¢ tube i o
N - —— exist. conc. betwee? plate and S— _{ ( | ( ¢ 11/16” dia. hole for >
© concrete’ Sleeve formed 5/8” dia. anchor bolt -
S #H&——“ i{iﬁ — - J\ of 1/8"PL[] " \( e L \ 1= /"
R I I R i e e | I —— — — = for sliding fit ; | T
= 1/4" il E inside of rail / / =
11/0" | ~| = 3 tube. Locate | 7 ‘
S — | ool sy ANCHOR PLATE DETAIL 7™
> of tube, typical Base PL. (A 36) § SCALE: 7 =10 570'\{-—5—7’0' 7
| i | Ref. top of .
fef. top of conc. rail
/  conc. rail | : |l fh
/\W@%
\/_/\ l | Z HOPE
” : 2—- 5/8" dia. A 325
~ TN 1/8”" thk. g 57 i gg w/ n/ut & washer All structural steel members, plates and bolts shall be
fieoprene pa ! '\l each post hot dipped galvanized after fabrication.
F | [
SECTION /7 ELEVATION I
:[\[< SCALE' j” — 7;__0» 570.3-5—:,/0”3 | < % L |
~ P — , ] I
RAIL SLEEVE ANCHOR AT END POST CONNECTION DETAIL S
SOHE 5 = T FLEVATION
“ — SCALE: 3" = 1"-0"
\‘fj ¢ Intermediate . |
: /| metal rail — T (
; 3 /}/2 . - ) —¢ 2- 5/8” dia. A 325 studs| | J
; | PL 1/4'x6°x3 1/2 w/nut & washer. Drill and PL 1/4°x6"x3 1/2”
< N | S | /— epoxy into concrete
< - 316" * T 71 |\ it 1S 2°x2°% 3/16” tubing
2 —- R R S R | 5 _~ (ASTM A" 500, Gr B)
N AN U [ A S R——
% < -1 ~—i—\}——u—  — y - - — A T e T )
N Q , /- ~y N T
n | 1/8” Neo
S T Wk ” ° , : , prene Pad between
S l ’ ’ [ b (7}19 5%,/)(?4 X5%76@f %””g z Ref. fin. grd. ! 2 plate and concrete
5 Bevrns O [ ( THIS WORK WAS PREPARED BY
9 3 ) ME OR UNDER MY SUPERVISION.
fli L34 Al < Ref. face of End post %WJ/ *%/ZW““‘W_M
g e 7 or /n termedla te POSZL SIGNATURE EXPIRATION DATE OF THE LICENSE
; / 5
S b S710.3|510.3
é 2' 1 &"/ STATE OF HAWAII
= DEPARTMENT OF TRANSPORTATION
2 g» Iy 25 SEC 7—/0/\/ m EZEVA T/O/\/ HIGHWAYS DIVISION
T SCALEL: J7 = 1=0" 51055105 METAL BIKEWAY AND INTERMEDIATE
LI RAILING ON CONCRETE RAIL DETAILS
B INTERMEDIATE METAL RAIL DETAIL HAWAI BELT ROAD RESURFACING
g 51k ) (INCIDENTAL TO METAL BIKE RAILING) Last Paauilo Bridge to Kaala Bridge
2 SCALE: 3" = 1=0” federal Aid—Project No. NH—-019-2(55)
s Scale: As Noted Date: April 2004
2 SHEET No. §10.3 OF 61 SHEETS



- .
\,5, [

\Cod\ksfO4\ 2003\ 30041 —HBR KAALA—PAAUILONO4~13—-04\HBR=S51004.dwg, 4/13/2004 4:35:53 PM, KSFinc.pc3, 1:1

: FED. AID
R e
HAWAII HAW. | NH-019-2(55) | 2004 | 111 112
6 0 ’
’ New metal bicycle rail ¢ W6X25 Guard rail —=
_ /See TN post (ASTM A36) ‘
510.4|510.4 ‘
Existing concrete _/ , <— Front face of thrie beam 5 7/16”
4 ' — to line up with bottom of
railing to remain | | sidemelk P ¢ W6X25 Guardrail
¢ M;6);25 Guardrail Base plate & post (ASTM A36) §
A ] o post. oee 7 ' 1"%11°%1"-4" Ig. | l | (:
SIS (S A58 B =
o . i ¢ Thrie beam = B\ Base plate ————;—"T+~@" e
N = N v Match top of base plate NEIPIG Vi 1"x11"°x1"=4" Ig. , .
: to t f st d Ik ) ‘ ‘” . L _ RN
< . O top ol existing sigewa / Saw aut 1” deep 7 _ ‘}%% = T
| | N\l U5 groove on all sides ¢ W6X25 Guardral o [
5 : | Existing V
N T ) [ post (ASTM A36) 1 o
> I H pavement 2 ” , 7T T N » - T —@“
= — i > © 1/2” Leveling grout—— A i Chip out 1 1/2” deep _—
A | i 7 ! recess for grout and < | ~
- i b - | §
: » / f TN base plate —
\ . Drill and epoxy 2—-5/8" dia. — LN o~
threaded rods with nuts f_lj \
| and washers N—Drill and epoxy 2—1 1/4” dia. S EIZ N B PV
threaded rods with nuts ]
| 3" 2'1/4"  and washers I
NOTE: | I

New metal bicycle rail

See sheets S10.1 thru S10.3.

SIDEWALK RAILING SECTION /A ™

SCALE:  3/4” = 10"

2)}

5104,

See m—\

510415103

Ref. top of
/ conc. rail
TN

°S1041510.3
v

— Drill & Epoxy
2-5/8" dia. A 325
bolt w/ nut & washer

each post

(C N

| |
T NIl
l
Beven R ® @
g . . i
= |
& | &
. Existing ——
" reinforcing V!
§>,E§z
mmmggq
Hiy SECTION
B Do »” ’ » '
L A SCALE: 1 1/2" = 1=0" S10.4|S10.4
3,15
HE
Z> K
-z

S10.4
™

PLAN — BASE PLATE B ™\

SCALE:

[HRIE BEAM METAL RAILING DETAIL /7™

SCALE: 1 1/2" = 1-0"

2-0"*

Concrete
rail belo w}

o —

-~
e~

—New bicycle rail

Grind Smooth
all around ~ ~3/16

PLAN

4" Top rail weld 4" away from ¢ post
Bottom rail weld at face of post

Top & botoom rail
Curved TS 3'x2"x3/16"
(ASTM S 500, Grade B)
or 3/16” Plates welded
together to make
3°x2°x3/16” Tubing

3/16"x3"°x2" Cap plate (typ.)

(2N

SCALE:

11/2" = 1'-0" 5104|5104

S70.4

——

S10.4
e

7 7/21) — 7}—0))

s10.4\s10.4
ki

</ LICENSED
Q/ PROFESSIONAL
ENGINEER

NO. 8104-S

THIS WORK WAS PREPARED BY

ME OR UNDER MY SUPERVISION.

il . g,

SIGNATURE EXPIRATION DATE OF THE LICENSE

STATE OF HAWAII
DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

SECTIONS AND DETAILS
HAWAIl BELT ROAD RESURFACING

Scale: As Noted Date: April 2004

GUARD RAIL AND PEDESTRIAN RAILING

Last Paouilo Bridge o Kaala Bridge
federal Aid—Project No. NH-019-2(55)

SHEET No. $10.4 OF 61 SHEETS

"



: FED. AID
Dist. No_| STATE | proJ. NO, :ﬁggél— S%%E.T SHEETS
HAWAI HAW. | NH-019-2(55) | 2004 | 112 112
_ Repair expansion joint BRIDCE “JOINT SIZE
New expansion joint <——( Bridge reference line Iy
O . Existi ¢ ohuna »
on existing concrete sidewalk New expansion joint § ;(/{/;/gﬂ g concrete 2 Exp. Joints 1
/\ | Jop of existing ; for detail see /7\ | Kukaiau o
L | \5-7052570'5/ | deck —\ 570.51510.5 | 8 Exp. Joints
' —jL ~= | /I Kalapahapuu i
_ | ‘ ' e 1 Exp. Joint 2
| | ! ! Kainehe .
J , 2 Exp. Joints 2
' | | ' Kawaili ,
| | | i | ! Exp. Joint !
| | | |
NOTE:
Joint size is approximate and shall
EXPANS/O/\/ (/O//\/f ELEVA 770/\/ be verified in the field by the contractor.
FOR ABUTIMENT T AND 2 /AN
SCALE: 1/2" = 1=0" S70.51570.5
~ ke
Existing concrete NOIE:
sidewalk 1. Follow all nosing and joint seal
Silicone seal manufacturer's recommendations.
Silicone seal install o W o / Ex{st/'ng top of Silicone seal install
Existing top of below bridge surface g o bridge deck Nosing material below bridge surface

bridge deck each side

Existing top of

bridge deck

Asphalt pavemnent
/ each side

AN

Existing top of
bridge deck

Closed cell foam o
backer rod Existing concrete

/2" sidewalk S
<N
Closed cell foam /

Fxisting Gap backer rod Closed cell foam —
' backer rod 6" 1

Sound concrete
substrate each side

Existing Gap
[

4/13/2004 1:20:01 PM, KSFinc.pc3, 1.1

—13-04\HBR~S1005.dwg,

EXPANSION JOINT DETAIL W/ NO EXPANSION JOINT DETAIL EXPANSION JOINT DETAIL W/
ASPHAL T PAVEMENT ON BRIDGE f\ Al EXISTING CONCRETE DECK /_\ ASPHAL T PAVEMENT ON BRIDGE /\

SCALE: NOT 7O SCALE 5705 SCALE: NOT TO SCALE 5705 SCALE: NOT TO SCALE 5‘705 THIS WORK WAS PREPARED BY

\_ \. \. ME OR UNDER MY SUPERVISION.

%ﬁ’f/ ‘Z /% %/W;Ho—m

SIGNATURE EXPIRATION DATE OF THE LICENSE

:::::

\Cad1\ksf04\ 2003\ 30041—HBR KAALA—PAAUILO\O4

g | j: DEPARTM EN?ATSFOFTEZWIG%PO RTATION
) R E : " E HIGHWAYS DIVISION
egﬁﬁ EXPANSION JOINT DETAILS
§§ g HAWAN BELT ROAD RESURFACING
Z* (8 ) Last Paaullo Bridge {o Kaala Bridge
Federal Aid—Project No. NH-019-2(55)
Scale: As Noted Date: April 2004

SHEET No. $10.5 OF 61 SHEETS

HBR-S105.DWG 11 2
1=1



	NH-019-2(55)_108.tif
	NH-019-2(55)_109.tif
	NH-019-2(55)_110.tif
	NH-019-2(55)_111.tif
	NH-019-2(55)_112.tif

